
MATHS

BOOKS - NCERT EXEMPLAR

PRACTICAL GEOMETRY SYMMETRY

AND VISUALISING SOLID SHAPES

Solved Examples

1. Which of the following is not a symmetrical

figure?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LHt1mA2drbNj


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LHt1mA2drbNj


2. In the workd MATHS which of the following

pairs of letters shows rotational symmetry

A. M and T

B. H and S

C. A and S

D. T and S

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qux7g3UtSwHa
https://dl.doubtnut.com/l/_iqojCOJeb7nB


3. The angle of rotation for the figure 12.2 is 

A. 

B. 

C. 

D. 

45
∘

60∘

90∘

180∘

https://dl.doubtnut.com/l/_iqojCOJeb7nB


Answer: C

Watch Video Solution

4. The figure 12.3 has _________vertices,

_____________edges and _____________faces. 

https://dl.doubtnut.com/l/_iqojCOJeb7nB
https://dl.doubtnut.com/l/_He0dogvg24N6


Watch Video Solution

5. The adjoinilng net in figure represents

a____________.

https://dl.doubtnut.com/l/_He0dogvg24N6
https://dl.doubtnut.com/l/_qkWxvgZ5jFvR


Watch Video Solution

6. Rotation turns an object about a fixed point.

This fixed point is called__________.

https://dl.doubtnut.com/l/_qkWxvgZ5jFvR
https://dl.doubtnut.com/l/_4xVBxmIrkzW9


Watch Video Solution

7. True or false: A net of 3-D shape is a sort of

skeleton-outline in 2-D,. Which when folded

results in the 3-D shape.

Watch Video Solution

8. A regular pentagon has no lines of

symmetry.

Watch Video Solution

https://dl.doubtnut.com/l/_4xVBxmIrkzW9
https://dl.doubtnut.com/l/_NnSoMzPCE9RH
https://dl.doubtnut.com/l/_zLDXVU2Kg1q1


9. State whether given statement is True or

False. 

Order of rotational symmetry for the figure is

4. 

Watch Video Solution

https://dl.doubtnut.com/l/_zLDXVU2Kg1q1
https://dl.doubtnut.com/l/_GIqzG29kxka5


10. Draw all the lines of symmetry for the

following letters if they exist.

Watch Video Solution

11. State whether the figure shows rotational

symmetry. If yes then what is the order of

https://dl.doubtnut.com/l/_im3mzaJj9v0v
https://dl.doubtnut.com/l/_Wyx9DN8uLhUO


rotational symmetry? 

Watch Video Solution

https://dl.doubtnut.com/l/_Wyx9DN8uLhUO


12. Identify the following figures: 

Watch Video Solution

13. Construct a triangle PQR such that PQ=6

cm, QR=7cm and PR=4.5cm.

Watch Video Solution

https://dl.doubtnut.com/l/_A6mYSLz99K90
https://dl.doubtnut.com/l/_pnWhuvgaKrrO
https://dl.doubtnut.com/l/_LD8AxvQBXUOv


14. Draw the top, the front and the side views

of the following solid figure made up of cubes.

Watch Video Solution

https://dl.doubtnut.com/l/_LD8AxvQBXUOv


15. Given a line l and a point M on it draw a

perpendicular MP of l where MP=5.2cm and a

line q parallel to l through P.

Watch Video Solution

16. Determine the number of edges, vertices

and faces in the fig. 

https://dl.doubtnut.com/l/_DmHfRcJX9Wi1
https://dl.doubtnut.com/l/_vaN0n1SOpAwq


Think And Discuss

Watch Video Solution

1. Write the number of vertices, edges and

faces of a pentagonal prism ?

https://dl.doubtnut.com/l/_vaN0n1SOpAwq
https://dl.doubtnut.com/l/_Txa3b6F20f7y


Watch Video Solution

2. Explain what it means for a figures to be

symmetric.

Watch Video Solution

3. Tell which capital letters of the alphabet

have line symmetry.

Watch Video Solution

https://dl.doubtnut.com/l/_Txa3b6F20f7y
https://dl.doubtnut.com/l/_gaEkh2hfaTd4
https://dl.doubtnut.com/l/_9Y5tGyTYQCA2
https://dl.doubtnut.com/l/_BbkpAp8GMeqT


4. Tell which capital letters of the alphabet

have rotational symmetry.

Watch Video Solution

5. Give a situation in which the front and side

views of a figure would be the same.

Watch Video Solution

6. How many cubes did you use to build the

three dimensional figure?

https://dl.doubtnut.com/l/_BbkpAp8GMeqT
https://dl.doubtnut.com/l/_FC962OpGqqv5
https://dl.doubtnut.com/l/_xQgg4D0OFMgD


Exercise

Watch Video Solution

1. A triangle can be constructed by taking its

sides as:

A. 1.8 cm, 2.6 cm, 4.4 cm

B. 2cm, 3cm, 4cm

C. 2.4cm, 2.4cm, 6.4cm

D. 3.2 cm, 2.3 cm, 5.5 cm

https://dl.doubtnut.com/l/_xQgg4D0OFMgD
https://dl.doubtnut.com/l/_4WLOCSjtGc5W


Answer:

Watch Video Solution

2. A triangle can be constructed by taking two

of its angles as:

A. 

B. 

C. 

D. 

110∘ , 40∘

70∘ , 115∘

135∘ , 45∘

90∘ , 90∘

https://dl.doubtnut.com/l/_4WLOCSjtGc5W
https://dl.doubtnut.com/l/_ACqK42NBta7C


Answer:

Watch Video Solution

3. The number of lines of symmetry in the

figure given below is: 

https://dl.doubtnut.com/l/_ACqK42NBta7C
https://dl.doubtnut.com/l/_3OJInp9rOrF8


A. 4

B. 8

C. 6

D. infinitely many

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3OJInp9rOrF8


4. The number of lines of symmetry in fig. is 

A. 1

B. 3

C. 6

D. infinitely many

https://dl.doubtnut.com/l/_MAQ7S2SR766y


Answer:

Watch Video Solution

5. The order of rotational symmetry in the fig

given below is 

https://dl.doubtnut.com/l/_MAQ7S2SR766y
https://dl.doubtnut.com/l/_Q7kDCpJsTGkS


A. 4

B. 8

C. 6

D. infinitely many

Answer:

Watch Video Solution

6. The order of rotational symmetry in the

figure given below is 

https://dl.doubtnut.com/l/_Q7kDCpJsTGkS
https://dl.doubtnut.com/l/_C9Xk4DcvvVrq


A. 4

B. 2

C. 1

D. infinitely many

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_C9Xk4DcvvVrq


7. The name of the given solid in fig is 

A. triangular pyramid

B. rectangular pyramid

C. rectangular prism

https://dl.doubtnut.com/l/_E3t7jAmpGOjH


D. triangular prism

Answer:

Watch Video Solution

8. The name of the solid in fig is 

https://dl.doubtnut.com/l/_E3t7jAmpGOjH
https://dl.doubtnut.com/l/_qVESHbMGUKsX


A. triangular pyramid

B. rectangular pyramid

C. triangular prism

D. rectangular pyramid

Answer:

Watch Video Solution

9. All faces of a pyramid are always:

A. Triangular

https://dl.doubtnut.com/l/_qVESHbMGUKsX
https://dl.doubtnut.com/l/_vvc2MAyBIzMv


B. Rectangular

C. Congruent

D. None of these

Answer:

Watch Video Solution

10. A solid that has only one vertex is

A. Pyramid

B. Cube

https://dl.doubtnut.com/l/_vvc2MAyBIzMv
https://dl.doubtnut.com/l/_u2IrKUkfHCvU


C. Cone

D. Cylinder

Answer:

Watch Video Solution

11. Out of the following which is a 3-D figure?

A. Square

B. Sphere

C. Triangle

https://dl.doubtnut.com/l/_u2IrKUkfHCvU
https://dl.doubtnut.com/l/_jJOseDROUq01


D. Circle

Answer:

Watch Video Solution

12. Total number of edges a cylinder has

A. 0

B. 1

C. 2

D. 3

https://dl.doubtnut.com/l/_jJOseDROUq01
https://dl.doubtnut.com/l/_4sIQZCBRuDZI


Answer:

Watch Video Solution

13. A solid that has two opposite identical

faces and other faces as parallelograms is a

A. prism

B. pyramid

C. cone

D. sphere

https://dl.doubtnut.com/l/_4sIQZCBRuDZI
https://dl.doubtnut.com/l/_CdQdiIa5voph


Answer:

Watch Video Solution

14. The solid with one circular face, one curved

surface and one vertex is known as:

A. cone

B. sphere

C. cylinder

D. prism

https://dl.doubtnut.com/l/_CdQdiIa5voph
https://dl.doubtnut.com/l/_W4203E4TRGur


Answer:

Watch Video Solution

15. If three cubes each of edge 4 cm are placed

end to end, then the dimensions of resulting

solild are:

A. 

B. 

C. 

D. 

12cm × 4cm × 4cm

4cm × 8cm × 4cm

4cm × 8cm × 12cm

4cm × 6cm × 8cm

https://dl.doubtnut.com/l/_W4203E4TRGur
https://dl.doubtnut.com/l/_h6BjexbaGXaz


Answer:

Watch Video Solution

16. When we cut a corner of a cube as shown

in the figure we get the cutout piece as: 

A. square pyramid

https://dl.doubtnut.com/l/_h6BjexbaGXaz
https://dl.doubtnut.com/l/_aMnDXh7XBF9p


B. trapezium prism

C. triangular pyramid

D. a triangle

Answer:

Watch Video Solution

17. If we rotate a right angled triangle of

height 5 cm and base 3 cm about its height a

full turn, we get

https://dl.doubtnut.com/l/_aMnDXh7XBF9p
https://dl.doubtnut.com/l/_QF2q1tLxwajX


A. cone of height 5 cm, base 3 cm

B. triangle of height 5 cm, base 3 cm

C. cone of height 5 cm, base 6 cm

D. triangle of height 5 cm, base 6 cm

Answer:

Watch Video Solution

18. If we rotate a right angled triangle of

height 5 cm and base 3 cm about its base, we

get:

https://dl.doubtnut.com/l/_QF2q1tLxwajX
https://dl.doubtnut.com/l/_2i73oQ3uf8hG


A. cone of height 3 cm and base 3 cm

B. cone of height 5 cm and base 5 cm

C. cone of height 5 cm and base 3 cm

D. cone of height 3 cm and base 5 cm

Answer:

Watch Video Solution

19. When a torch is pointed towards one of the

vertical edges of a cube, you get a shadow of

cube in the shape of

https://dl.doubtnut.com/l/_2i73oQ3uf8hG
https://dl.doubtnut.com/l/_4IzMF0OsrxRT


A. square

B. rectangle but not a square

C. circle

D. triangle

Answer:

Watch Video Solution

20. Which of the following sets of triangles

could be the lengths of the sides of a right

angled triangle:

https://dl.doubtnut.com/l/_4IzMF0OsrxRT
https://dl.doubtnut.com/l/_sl9Hbs5lWgXD


A. 4cm, 4cm, 6cm

B. 9cm, 16cm, 26m

C. 1.5cm,3.6cm, 3.9cm

D. 7cm, 24cm, 26cm

Answer:

Watch Video Solution

21. In which of the following cases, a unique

triangle can be drawn

https://dl.doubtnut.com/l/_sl9Hbs5lWgXD
https://dl.doubtnut.com/l/_CP8BUUSslvHs


A. AB=4cm, BC=8cm and CA=2cm

B. BC=4.2cm,  and 

C.  and 

D. An isosceles triangles with the length of

each equal side 6.2 cm.

Answer:

Watch Video Solution

∠B = 90∘ ∠C = 110∘

XY = 5cm, ∠X = 45∘ ∠Y = 60∘

https://dl.doubtnut.com/l/_CP8BUUSslvHs


22. Which of the following has no line of

symmetry?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_6kK6ftDfxq8R


D. 

Answer:

Watch Video Solution

23. Which of the following are reflections of

each other?

A. 

https://dl.doubtnut.com/l/_6kK6ftDfxq8R
https://dl.doubtnut.com/l/_AYnyJLO4Lg7f


B. 

C. 

D. 

Answer:

Watch Video Solution

24. Which of these nets is a net of a cube?

https://dl.doubtnut.com/l/_AYnyJLO4Lg7f
https://dl.doubtnut.com/l/_6RLPZ6KZLBGz


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_6RLPZ6KZLBGz


25. Which of the following nets is a net of a

cylinder?

A. 

B. 

https://dl.doubtnut.com/l/_6RLPZ6KZLBGz
https://dl.doubtnut.com/l/_zDMSzV1oa4he


C. 

D. 

Answer:

Watch Video Solution

26. Which of the following letter of English

alphabet has only two lines of symmetry?

https://dl.doubtnut.com/l/_zDMSzV1oa4he
https://dl.doubtnut.com/l/_ycVbTjvK60Fx


A. 

B. 

C. 

D. 

Answer:

https://dl.doubtnut.com/l/_ycVbTjvK60Fx


Watch Video Solution

27. Take a square piece of paper as shown in

figure(1). Fold it along its diagonals as shown

in figure (2). Again fold it as shown in figure

(3). Imagine that you have cut off 3 pieces of

the form of congruent isosceles right angled

triangles out of it as shown in figure 4. 

 


On opening the piece of paper which of the

following shapes will you get?

https://dl.doubtnut.com/l/_ycVbTjvK60Fx
https://dl.doubtnut.com/l/_na6RaXJdh5VQ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_na6RaXJdh5VQ


28. Which of the following 3-dimensional

figures has the top, side and front as

triangles?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_ivobB5znipAg


D. 

Answer:

Watch Video Solution

29. In an isosceles right triangle, the number

of lines of symmetry is ________.

Watch Video Solution

https://dl.doubtnut.com/l/_ivobB5znipAg
https://dl.doubtnut.com/l/_XE6LGIz7qWWv


30. Rhombus is a figure that has _______lines of

symmetry and has a rotational symmetry of

order__________.

Watch Video Solution

31. ____________triangle is a figure that has a line

of symmetry but lacks rotational symmetry.

Watch Video Solution

https://dl.doubtnut.com/l/_3jdIv0MOGAtO
https://dl.doubtnut.com/l/_OmGrO3Zbn1DI


32. _________________is a figure that has neither a

line of symmetry nor a rotational symmetry.

Watch Video Solution

33. _______and ____________are the capital letter

of English alphabets that have one line of

symmetry but they interchange to each other

when rotated through .

Watch Video Solution

180∘

https://dl.doubtnut.com/l/_Fv6n9yxTUkeI
https://dl.doubtnut.com/l/_rgF8Z60KErQY
https://dl.doubtnut.com/l/_wbXp7qmp92fo


34. The common portion of two adjacent faces

of a cuboid is called _________.

Watch Video Solution

35. A plane surface of a solid enclosed by

edges is called__________.

Watch Video Solution

https://dl.doubtnut.com/l/_wbXp7qmp92fo
https://dl.doubtnut.com/l/_lkqPj2wkxP0r


36. The corners of solid shapes are called

its________________.

Watch Video Solution

37. A solid with no vertex is _______________.

Watch Video Solution

38. A triangular prism has____________faces,

__________edges and __________vertices.

https://dl.doubtnut.com/l/_6gozWR0S3cDM
https://dl.doubtnut.com/l/_7jIEF7UGKBVZ
https://dl.doubtnut.com/l/_mMZhNkfUzjhF


Watch Video Solution

39. A triangular pyramid has

____________faces,_________ edges and

_________vertices.

Watch Video Solution

40. A square pyramid

has_____________faces,____________edges and

___________vertices.

https://dl.doubtnut.com/l/_mMZhNkfUzjhF
https://dl.doubtnut.com/l/_QaUmD2qz4Lvc
https://dl.doubtnut.com/l/_XdArQBgRE72a


Watch Video Solution

41. Fill in the blanks:- Out of ____________faces of

a triangular prism,___________are rectangles and

___________are triangles.

Watch Video Solution

42. The base of a triangular pyramid is a

______________.

Watch Video Solution

https://dl.doubtnut.com/l/_XdArQBgRE72a
https://dl.doubtnut.com/l/_WMTyW6On9ZUw
https://dl.doubtnut.com/l/_jwDOFEtiDmd6


43. Out of __________faces of a square pyramid,

______________are triangles and _____________is/are

squares.

Watch Video Solution

44. Out of ________faces of a rectangular

pyramid _______are triangles and base is

__________.

Watch Video Solution

https://dl.doubtnut.com/l/_hPJMlAegHjWr
https://dl.doubtnut.com/l/_ddggxZlcZGsA
https://dl.doubtnut.com/l/_Mwkw7hvSpDQV


45. Each of the letters H,N,S and Z has a

rotational symmetry of order ____________.

Watch Video Solution

46. Order of rotational symmetry of a

rectangle is ____________.

Watch Video Solution

https://dl.doubtnut.com/l/_Mwkw7hvSpDQV
https://dl.doubtnut.com/l/_7RakNiCOML6G


47. Order of rotational symmetry of a circle is

___________.

Watch Video Solution

48. Each face of a cuboid is a __________.

Watch Video Solution

49. Line of symmetry for an angle is its

________________.

https://dl.doubtnut.com/l/_8VOL6FOTIQZR
https://dl.doubtnut.com/l/_VyVBGIL2Kqnc
https://dl.doubtnut.com/l/_BkPl8629krXR


Watch Video Solution

50. A parallelogram has ______________line of

symmetry.

Watch Video Solution

https://dl.doubtnut.com/l/_BkPl8629krXR
https://dl.doubtnut.com/l/_1A7qg02Bbsdn


51. Order of rotational symmetry of 

 


is _____________.

Watch Video Solution

https://dl.doubtnut.com/l/_062JePSnHn63
https://dl.doubtnut.com/l/_CeTLIqTJbfeU


52. A_________triangle has no lines of symetry.

Watch Video Solution

53.  is a

net of _____________. 

Watch Video Solution

https://dl.doubtnut.com/l/_CeTLIqTJbfeU
https://dl.doubtnut.com/l/_dXJM9u1377M6


54.  is a

net of a ________________.

Watch Video Solution

https://dl.doubtnut.com/l/_dXJM9u1377M6
https://dl.doubtnut.com/l/_AwHxdNJIVER9


55. Order of rotational symmetry of 

___________.

Watch Video Solution

https://dl.doubtnut.com/l/_f7qcaIHs23ki


56. A regular hexagon has six lines of

symmetry.

Watch Video Solution

57. An isosceles trapezium has one line of

symmetry.

Watch Video Solution

https://dl.doubtnut.com/l/_iZn1R3Jns71I
https://dl.doubtnut.com/l/_HMPxwDuBDhuQ


58. Order of rotational symmetry of a rhombus

is four.

Watch Video Solution

59. Order of rotational symmetry of a semi

circle is two.

Watch Video Solution

https://dl.doubtnut.com/l/_OllvlSgEHOez
https://dl.doubtnut.com/l/_DZdQSoZjsolJ


60. True or False: In oblique sketch of the solid,

the measurements are kept proportional.

Watch Video Solution

61. True of False: An isometric sketch does not

have proportional length.

Watch Video Solution

https://dl.doubtnut.com/l/_Eg59Vgugrk36
https://dl.doubtnut.com/l/_2Vs1NR3xTi4Y


62. Write (T) for True and (F) for false:

(i) A Cylinder has no vertex.

Watch Video Solution

63. All the faces, except the base of a square

pyramid are triangular.
state true or false

Watch Video Solution

https://dl.doubtnut.com/l/_ESiEkk5fwY7y
https://dl.doubtnut.com/l/_Ho4EBiOJaJmT


64. A pyramid has only one vertex.
 state true

or false

Watch Video Solution

65. A triangular prism has 5 faces, 9 edges and

6 vertices.
state true or false

Watch Video Solution

https://dl.doubtnut.com/l/_CNulUk9tl4lK
https://dl.doubtnut.com/l/_NZW8fKoUfCXH


66. If the base of a pyramid is a square, it is

called a square pyramid.
state true or false

Watch Video Solution

67. A rectangular pyramid has 5 rectangular

faces.
state true or false

Watch Video Solution

https://dl.doubtnut.com/l/_ULIgmzPeXSqO
https://dl.doubtnut.com/l/_TVyIkNcR6Je5


68. Rectangular prism and cuboid refer to the

same solid.

Watch Video Solution

69. A tetrahedron has 3 triangular faces and 1

rectangular face.

Watch Video Solution

https://dl.doubtnut.com/l/_nh9ahwJCMv23
https://dl.doubtnut.com/l/_XQWSBBnYXEZG


70. State True or False 

While rectangle is a 2 -D figure , cuboid is a 3-D

figure.

Watch Video Solution

71. State True or False: 

While sphere is a 2-D figure, circle is a 3-D

figure.

Watch Video Solution

https://dl.doubtnut.com/l/_xU3495MkPsub
https://dl.doubtnut.com/l/_lk18B9e6zkw0
https://dl.doubtnut.com/l/_gUAqqSDbIooP


72. State True or False 

Two dimensional figures are also called plane

figures.

Watch Video Solution

73. A cone is a polyhedron.

Watch Video Solution

74. A prism has four bases.

https://dl.doubtnut.com/l/_gUAqqSDbIooP
https://dl.doubtnut.com/l/_Y2Bzph80qJl0
https://dl.doubtnut.com/l/_XQBwwSUeufYk


Watch Video Solution

75. The number of lines of symmetry of a

regular polygon is equal to the vertices of the

polygon.

Watch Video Solution

76. State whether the given statement is True

or False: The order of rotational symmetry of a

figure is 4 and the angle of rotation is 

only.

180∘

https://dl.doubtnut.com/l/_XQBwwSUeufYk
https://dl.doubtnut.com/l/_nMGYTsaqnMn6
https://dl.doubtnut.com/l/_thpXLqsJQFKu


Watch Video Solution

77. Mirror reflection leads to symmetry always.

Watch Video Solution

78. Rotation turns an object about a fixed

point which is known as centre of rotation.

Watch Video Solution

https://dl.doubtnut.com/l/_thpXLqsJQFKu
https://dl.doubtnut.com/l/_S6msKRhAWxrq
https://dl.doubtnut.com/l/_o6hVWdxvDQc9


79. State True or False: 

Isometric sheet divides the paper into small

isosceles triangles made up of dots of lines.

Watch Video Solution

80. State True or False 

The circle, the square, the rectangle and the

triangle are examples of plane figures.

Watch Video Solution

https://dl.doubtnut.com/l/_4L6cTtYyEuq9
https://dl.doubtnut.com/l/_i9GU0BF5cgKk
https://dl.doubtnut.com/l/_fbiFDj5qBNRt


81. State True or False: 

The solid shapes are of two dimensional.

Watch Video Solution

82. State True or False 

Triangle with length of sides as 5 cm, 6 cm and

11 cm can be constructed.

Watch Video Solution

https://dl.doubtnut.com/l/_fbiFDj5qBNRt
https://dl.doubtnut.com/l/_kMJyqzl4juSZ


83. Construct a right triangle whose base is

12cm and sum of its hypotenuse and other

side is 18 cm.

Watch Video Solution

84. Draw a right triangle in which the sides

(other than hypotenuse) are of lengths 4 cm

and 3 cm. Then construct another triangle

whose sides are  times the corresponding

sides of the given triangle.

5

3

https://dl.doubtnut.com/l/_b0T5Gw3XsC5v
https://dl.doubtnut.com/l/_H8KbNyD86rX0


Watch Video Solution

85. Draw two parallel lines at
 a distance 5 cm

apart.

Watch Video Solution

86. Draw an isosceles triangle
in which each of

the equal sides is of length 3 cm and the angle

between them
is

Watch Video Solution

450.

https://dl.doubtnut.com/l/_H8KbNyD86rX0
https://dl.doubtnut.com/l/_Xgn71BZhv4NB
https://dl.doubtnut.com/l/_PKE8omP5P6AZ


87. Draw a triangle whose
sides are of lengths


Draw the perpendicular

bisector of the
largest side.

Watch Video Solution

4 cm,  5 cm and 7 cm.

88. Construct an obtuse angled triangle which

has a base of 5.5 cm and base angles of 

and .

Watch Video Solution

30∘

120∘

https://dl.doubtnut.com/l/_0LeWefqNxsns
https://dl.doubtnut.com/l/_49EIkf2nlFY6
https://dl.doubtnut.com/l/_CWaFFaG79Ihc


89. Construct an equilateral triangle ABC of

side 6cm.

Watch Video Solution

90. By what minimum angle does a regular

hexagon rotate so as to coincide with its

origional position for the first time?

Watch Video Solution

https://dl.doubtnut.com/l/_CWaFFaG79Ihc
https://dl.doubtnut.com/l/_sfA7o1nxLvEE


91. In the figure of cube. 

(i) Which edge is the intersection of faces

EFGH and EFBA? 

(ii) Which faces intersect at edge FB? 

(iii) Which three faces form the vertex A? 

(iv) Which vertex is formed by the faces ABCD,

ADHE and CDHG? 

(v) Give all the eges that are parallel to edge

AB. 

(vi) Give the eges that are neither parallel nor

perpendicular to edge BC.

(vii) Give all the edges that are perpendicular

https://dl.doubtnut.com/l/_Vp78tVwSngrQ


to edge AB. 

(viii) Give four vertices that do not all lie in one

plane. 

Watch Video Solution

https://dl.doubtnut.com/l/_Vp78tVwSngrQ
https://dl.doubtnut.com/l/_UDESlvpN5RDg


92. Draw a net of a cuboid having same

breadth and height, but length double the

breadth.

Watch Video Solution

93. Draw the nets of the following 

(i) Triangular prism 

(ii) Tetrahedron 

(iii) Cuboid

Watch Video Solution

https://dl.doubtnut.com/l/_UDESlvpN5RDg
https://dl.doubtnut.com/l/_ivdSYlvenj0i


94. Draw a net of the solid given in the figure 

Watch Video Solution

95. Draw an isometric view of a cuboid

.6cm × 4cm × 2cm

https://dl.doubtnut.com/l/_rA95Kw2c8Qrc
https://dl.doubtnut.com/l/_ty0ReO5FJrak


Watch Video Solution

96. The net given below in fig can be used to

make a cube. 

(i) Which edge meets AN?

(ii) Which edge meets DE? 

Watch Video Solution

https://dl.doubtnut.com/l/_ty0ReO5FJrak
https://dl.doubtnut.com/l/_4zO5HejlpnBz


97. Draw the net of triangular pyramid with

base as equilateral triangle of side 3 cm and

slant edges 5 cm.

Watch Video Solution

98. Draw the net of a square pyramid with

base as square of side 4 cm and slant edges 6

cm.

Watch Video Solution

https://dl.doubtnut.com/l/_4zO5HejlpnBz
https://dl.doubtnut.com/l/_Y7U6yevpPhJx
https://dl.doubtnut.com/l/_33LVbGtQD6Bs


99. Find the area of a rectangle whose length

is 36 cm and breadth 15 cm.

Watch Video Solution

100. Draw all lines of symmetry for each of the

following figures as given below: 

Watch Video Solution

https://dl.doubtnut.com/l/_kAqjjnlzEMzF
https://dl.doubtnut.com/l/_bESK4G29pERV


101. Draw all lines of symmetry, if it has.

https://dl.doubtnut.com/l/_yLtykDDYwFph


Watch Video Solution

102. Tell whether each figure has rotational

symmetry or not. 

https://dl.doubtnut.com/l/_yLtykDDYwFph
https://dl.doubtnut.com/l/_S3yCwxXn5saK


Watch Video Solution

103. Draw all lines of symmetry for each of the

following figures : 

 


Watch Video Solution

https://dl.doubtnut.com/l/_S3yCwxXn5saK
https://dl.doubtnut.com/l/_evmHHekPdDrI


104. 




Tell whether each figure has rotational

symmetry. Write yes or no.

Watch Video Solution

https://dl.doubtnut.com/l/_evmHHekPdDrI
https://dl.doubtnut.com/l/_2v8yT1nrQ0Od


105. Does the fig have rotational symmetry?

Watch Video Solution

106. The flag of Japan is shown below. How

many lines of symmetry does the flag have?

https://dl.doubtnut.com/l/_7zPlSOgcSkjA
https://dl.doubtnut.com/l/_SkUie4UoHshd


Watch Video Solution

107. Which of the following figures do not have

the symmetry?

https://dl.doubtnut.com/l/_SkUie4UoHshd
https://dl.doubtnut.com/l/_gYbSeghVch0e


Watch Video Solution

108. Which capital letters of English alphabet

have no line of symmetry?

Watch Video Solution

https://dl.doubtnut.com/l/_gYbSeghVch0e
https://dl.doubtnut.com/l/_yFvan7TLvi2m

